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(1) ] | 4 :%(type | error)

(2) 2 ¥ ¥ ¥ (confidence interval)
(3). fu;i £ (statistic)

(4) = % £ < (ordinal scale)

(5):% ETT%\ 17 (regression analysis)
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(1) X~N(100 = u, 16 = ¢2), P(96<X<108)=?
(2) X~N(100,16), P(y<X<104)=0.50 > - y?

5. Given the below data. (30%)

X=gender, 0=girl and 1=boy Y=statistics score
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Estimate the regression equation: Y —a+bX .
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(1) Complete the ANONA Summary Table.

(2) Calculate the adjusted coefficient of determination.

(3) Complete a scatter plot and label a and b on it.
(4) Please tell us the meanings of a and b.

Do a two-independent t test and answer the relationships with (1) and (4).

6. Suppose Best Buy would like to know if the age of a customer affects the brand of digital camera he or
she purchases. This information would be used to help design a new promotional campaign. The data
show the frequency with which 150 people, categorized by their age groups, purchased various camera

brands. (10%)

Camera brand

Age groups Canon
18 to 34 30
35to 51 22
52 and older 8
Total 60

Total
54
66
30

150

Please calculate the chi-square test whether the age of a customer affects the brand of digital camera he or
she purchases (Don’t test, but write down the null and alternative hypotheses).

7. Please state the assumptions for regression analysis and explain the multicollinearity problem. (10%)
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B.1 Areas under the Normal Curve
Example:
If z=1.96, then
Al to 2) = 0.4750.
i
I 000 o o2 0.03 0.04 0.05 0.06 o7 0.08 0.0
oo ooon 0.0040 0.0080 20 0.0160 0.0799 0.0239 00279 0.0319 0.0358
(1R (0308 0.0438 0.0478 0.0517 0.0557 0.0596 00636 LOGTS D.0714 0.0753
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07 2580 o.xmn 0.26542 0.2673 0.2704 0.2734 0.2764 02794 0.2823 0.2852
0.8 0.2881 0.2910 10,2939 0.2967 02085 0.3023 0.3051 0.3078 03106 0.3133
09 0.3159 0.3186 0.3212 03238 0.3264 0.3289 0.3315 0.3340 0.3365 0.3389
10 0.3413 0.3438 0.3461 0.3485 0.3508 0.353 0.3554 03577 0.3589 03621
11 0.3643 0.3665 0. 3686 0.3708 03729 0.3749 0.3770 0.3790 03810 10,3830
1.2 0.3849 03869 0.3888 0.3907 0.3925 0.3944 0.3962 03980 0.3997 04015
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14 0.4192 0.4207 04222 0.4236 0.4251 0.4265 04274 04292 0.4306 0.4319
15 0.4332 0.4345 0.4357 04370 04382 04384 04406 0.4418 04429 04441
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18 04713 04719 0.4726 04732 04738 0.4744 04750 04756 04761 04767
20 04772 04778 0.4783 0. 4788 04793 04798 0.4803 0,4808 04812 04817
21 0.4521 04826 0.4830 0.4834 04838 0.4842 0.4846 0.4850 0.4854 0.4857
22 0. 4861 04864 04868 04871 04875 04878 04881 04884 O.4887 10,4880
23 0.4893 04896 0.4858 04501 04904 0.4906 04909 0.4911 0.4913 0.4916
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26 0.4953 0.4955 04956 04457 0.4959 0.4960 04961 04962 0.4963 0.4964
27 0. 4965 04966 04967 0.49648 (0.4065 0.44970 04971 0.4972 0.4973 0.4974
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3IZI Q:d_E!E? ﬂ.-i_Qﬁ_i.'-‘ IJ-.4E|E_?' 045988 0.4988 0.4989 U.d&ﬂ_ﬂ IJ.4‘._EIEB_ ﬂ-%QBD ; [HEIE‘S]




